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Center for Academic Resources in Engineering (CARE)
Peer Exam Review Session

Phys 211 — University Physics: Mechanics

Midterm 3 Worksheet

The problems in this review are designed to help prepare you for your upcoming exam. Questions pertain
to material covered in the course and are intended to reflect the topics likely to appear in the exam. Keep
in mind that this worksheet was created by CARE tutors, and while it is thorough, it is not comprehensive.
In addition to exam review sessions, CARE also hosts regularly scheduled tutoring hours.

Tutors are available to answer questions, review problems, and help you feel prepared for your
exam during these times:

Session 1: Apr 18, 6-7:30pm Stef and Isabel Session 2: Apr 19, 8-9:30pm Jason and Amanda

Can’t make it to a session? Here’s our schedule by course:
https://care.engineering.illinois.edu/tutoring-resources/tutoring-schedule-by-course/

Solutions will be available on our website after the last review session that we host, as well as
posted in the zoom chat 30 minutes prior to the end of the session

Step-by-step login for exam review session:

. Log into Queue @ Illinois

. Click “New Question”

. Add your NetID and Name
. Press “Add to Queue”

. Join the zoom link in the staff message

Please do not log into the zoom call without adding yourself to the queue

Good luck with your exam!


https://students.grainger.illinois.edu/CARE/exam-review-sessions/
https://care.engineering.illinois.edu/tutoring-resources/tutoring-schedule-by-course/
https://queue.illinois.edu/q/queue/711
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1. A wad of gum having mass m = 0.2 kg is thrown
with speed v .= 8 m/s at a perpendicular bar
with length d = 1.4 m and mass M. The bar is
initially at rest on a table but can rotate freely
about a pivot at its center. The gum sticks to
the end of the bar and the angular speed of the
bar just after the collision is measured to be w

= 3 rad/s. . v 1
Assume that the wad of gum is a point particle

and assume that the pivot is frictionless. (You
do not have to worry about gravity in this prob-
lem)

(a) What is the magnitude of the angular momentum of the gum with respect to the pivot before it

collides with the bar?

(b) What is the angular momentum of the gum with respect to the pivot after it collides with the bar?

(c) What is the mass of the bar?
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. A solid cylinder (I = 1M R?) and a solid sphere (I = 2M R?), of the same radius and mass, roll

down an incline of angle § = 30°. They both start from rest at a distance D = 2 meters up the
incline, as shown in the diagram, and roll without slipping to the bottom of the incline.

True or False

The initial gravitational potential energy of the

two objects is partially lost in work done over-

coming frictional forces as the objects roll down 0
the incline.

The ratio of change in translational kinetic energy (%M V?2) between the top and the bottom of
the incline compared to the change in rotational kinetic energy is:

Larger for the solid sphere than it is for the solid cylinder
The same for both objects
Smaller for the solid sphere than it is for the solid cylinder

What is the value of the ratio of the velocities of the sphere and the cylinder Vgpnere/Veyiinder at
the bottom of the incline?
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. A yo-yo begins falling under the influence of gravity at t = 0, while the free end of the string is
being held steady. The string is wound on the spool of the yo-yo with a constant radius r. The
mass of the yo-yo is m and its moment of inertia is I.

What is the magnitude of the downward acceleration a of the yo-yo?

a:g%
a:ng’"2
a=g(l—:5)
a=g/(1+ ;)

a=g+1—mr?

At some later time, t, what is the angular velocity?
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4. Seven identical point particles of mass M are arranged in the x-y plane, with one at the origin
and the other six equally spaced into a hexagon as shown. The particles are connected into a
rigid assembly by twelve identical massless rods of length L. Would the moment of inertia for
rotations around an axis parallel to the z-axis but passing through one of the outer six particles
be larger, smaller, or the same compared to a moment of inertia for rotations about the z-axis
passing through the middle particle?

A) Larger
B) Smaller
C) The Same
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5. A wheel is made by combining a hoop of radius R and mass M with three spokes, each a thin rod
of length R and mass M

What is the moment of inertia of the wheel for rotations around the axis labeled b in the diagram?
(The b axis is perpendicular to the page and passes through the rim of the wheel at the end of
one of the spoke)
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6. A gyroscope made from a solid disk of mass M = 6 kg and radius R hangs from a vertical rope
attached to the ceiling. The disk spins with angular velocity w = 21 rad/s around a horizontal
axle through its center in the direction shown by the arrow, and the rope is attached to one end
of this axle at a distance D from the center of mass of the disk.

The angular momentum of the spinning disk is
L = 124 kg-m?/s. The time it takes the gyro-
scope to make one complete revolution in the
horizontal plane (its procession period) is 22.2
seconds.

w
N

(a) What is the moment of inertia of the spinning disk?

(b) What is the distance D between the gyroscope and the rope?

(c) Suppose the same gyroscope is moved to the surface of a new planet where the acceleration of
gravity on the surface is smaller than it is on the Earth. How does the procession period change?

A) It increases
B) It stays the same
C) It decreases
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(d) True or False, the Angular momentum vector ‘follows’ the torque vector as the gyroscope pro-
cesses?

(e) Which way does the disk process?

)
A) It does not process
B) Clockwise as seen from above (looking down the rope)
)

C) Counterclockwise as seen from above (looking down the rope)
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A beam of mass M = 5 kg and length L. = 3 m is attached to a vertical wall by a hinge at its lower
end and a horizontal massless wire at its top end, as shown in the diagram. The angle between
the wall and the beam is § = 69 degrees.

What is the tension in the wire?

If the attachment point of the wire on the wall were moved upward by half a meter, but M, L. and
0 were the same as in the above question, how would the tension in the wire change? (Note that
a longer wire is required to move the attachment point this way)

It would decrease

It would increase

It would stay the same

Now suppose the wire breaks and the beam starts to rotate around the hinge. What is «ay, the

magnitude of the angular acceleration of the beam about the hinge immediately after the wire
breaks?

If the beam were shorter, but M and 6 were the same as above, how would the answer to the above
question change?

The magnitude of ag would be bigger
The magnitude of oy would be smaller
The magnitude of oy would be the same
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